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NEW QUESTION 1
Which function does a fabric edge node perform in an SD-Access deployment?

A. Connects the SD-Access fabric to another fabric or external Layer 3 networks
B. Connects endpoints to the fabric and forwards their traffic

C. Provides reachability border nodes in the fabric underlay

D. Encapsulates end-user data traffic into LISP.

Answer: A

NEW QUESTION 2
Refer to the exhibit.

R1&# sh ron | begin ine con
hna con o
excc-timeout O O
privilege: level 15
lewgogireg synchionmos
stopbits 1
line aux o
axac-timeaut O 0D
privilege lovel 15
logging synchronous
sloptuls 1
line vy 0 4
password 7 045802150C2E
Togin

hna vy & 15
password 7 045802150C2E
login
I
cnid
R1# sh run | nclude aaa | enable

no aaa new-model
R1&#

Which privilege level is assigned to VTY users?

N N e
w

cow>
o

Answer: D

NEW QUESTION 3

A network is being migrated from IPV4 to IPV6 using a dual-stack approach. Network management is already 100% IPV6 enabled.

two dual-stack NetFlow collections, how many flow exporters are needed per network device in the flexible NetFlow configuration?

o0 w»
o DN

Answer: B

NEW QUESTION 4
Refer to the exhibit.

Extended IP access list EGRESS
10 permit ip 10.0.0.0 0.0.0 255 any
|

<Cmtput Omitted=

i

intarmace GigablkEtharnsatl o

ip address 209 165 200 225 255 255 255.0
ip acocess-group EGRESS out
cluples snalo

speed auto

media-type n4s

In a dual-stack network with

An engineer must block all traffic from a router to its directly connected subnet 209.165.200.0/24. The engineer applies access control list EGRESS in the
outbound direction on the GigabitEthernet0/0 interface of the router However, the router can still ping hosts on the 209.165.200.0/24 subnet. Which

A. Mastered
B. Not Mastered

Answer: A

Explanation:
of this behavior is true?
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A. Access control lists that are applied outbound to a router interface do not affect traffic that is sourced from the router.

B. Only standard access control lists can block traffic from a source IP address.

C. After an access control list is applied to an interface, that interface must be shut and no shut for the access control list to take effect.

D. The access control list must contain an explicit deny to block traffic from the router.
Answer: A

NEW QUESTION 5
Which statement about agent-based versus agentless configuration management tools is true?

A. Agentless tools require no messaging systems between master and slaves.
B. Agentless tools use proxy nodes to interface with slave nodes.

C. Agent-based tools do not require a high-level language interpreter such as Python or Ruby on slave nodes.

D. Agent-based tools do not require installation of additional software packages on the slave nodes.

Answer: D

NEW QUESTION 6
On which protocol or technology is the fabric data plane based in Cisco SD-Access fabric?

A. LISP

B. IS-IS

C. Cisco TrustSec
D. VXLAN

Answer: D

NEW QUESTION 7
Which statement about a fabric access point is true?

A. ltis in local mode an must be connected directly to the fabric border node.

B. Itis in FlexConnect mode and must be connected directly to the fabric border node.
C. Itis in local mode an must connected directly to the fabric edge switch.

D. Itis in FlexConnect mode and must be connected directly to the fabric edge switch.

Answer: C

NEW QUESTION 8
Drag and drop the characteristics from the left onto the correct infrastructure deployment types on the right.
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A. Mastered
B. Not Mastered

Answer: A

Explanation:

On premise: customizable,specific requirements,resources Cloud: scale, built-in automated backup, strong stable internet

NEW QUESTION 9
Which method creates an EEM applet policy that is registered with EEM and runs on demand or manually?

A. event manager applet ondemand event registeraction 1.0 syslog priority critical msg ‘This is a message from ondemand'
B. event manager applet ondemand event manualaction 1.0 syslog priority critical msg 'This is a message from ondemand’
C. event manager applet ondemand event noneaction 1.0 syslog priority critical msg 'This is a message from ondemand’

D. event manager applet ondemandaction 1.0 syslog priority critical msg 'This is a message from ondemand'

Answer: C
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NEW QUESTION 10
Which method does the enable secret password option use to encrypt device passwords?

A. AES
B. CHAP
C. PAP
D. MD5

Answer: D

NEW QUESTION 10
Refer to exhibit.

=~ = =

SV SwW2 SwWa3

VLANSs 50 and 60 exist on the trunk links between all switches All access ports on SW3 are configured for VLAN 50 and SW1 is the VTP server Which command

ensures that SW3 receives frames only from VLAN 507

A. SW1 (config)#vtp pruning

B. SW3(config)#vtp mode transparent
C. SW2(config)=vtp pruning

D. SW1 (config >»vtp mode transparent

Answer: A

NEW QUESTION 13
What the role of a fusion in an SD-Access solution?

A. provides connectivity to external networks

B. acts as a DNS server

C. performs route leaking between user-defined virtual networks and shared services
D. provides additional forwarding capacity to the fabric

Answer: C

NEW QUESTION 18
What is a benefit of deploying an on-premises infrastructure versus a cloud infrastructure deployment?

A. faster deployment times because additional infrastructure does not need to be purchased
B. lower latency between systems that are physically located near each other

C. less power and cooling resources needed to run infrastructure on-premises

D. ability to quickly increase compute power without the need to install additional hardware

Answer: B

NEW QUESTION 20

Which DNS lookup does an access point perform when attempting CAPWAP discovery?
A. CISCO-DNA-CONTROLLER local

B. CAPWAP-CONTROLLER local

C. CISCO-CONTROLLER local

D. CISCO-CAPWAP-CONTROLLER local

Answer: D

NEW QUESTION 24
What is a benefit of data modeling languages like YANG?

A. They enable programmers to change or write their own application within the device operating system.

B. They create more secure and efficient SNMP OIDs.

C. They make the CLI simpler and more efficient.

D. They provide a standardized data structure, which results in configuration scalability and consistency.
Answer: D

NEW QUESTION 28
Refer to the exhibit.
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G0/0 Linkl GOS0
GOy1 Limk2 G0S1
EWZ2#show sSpanning-tres
FLAlN 1
Spanning tree enabled proctooocl i1ees
oot ID FELQTARY F2TEF
Addrass 5000 ., 0005 . 0000
Co=tT £
P ~ -;.rﬂ' B
Hello Time 2 mec Max Age 20 aec Forward Dela 15 asc
Bradge ID EiDrity B2TED ipriczity 32TE] msy=—id-ext 1)
Addres Ll jals Lafa] =
Hells Time 2 aas Max Rge 20 sec Forward Delay 15 sec
Agang Time 300 sEc
Incerface Bole St= Cost Brip bx Type=
5z RBoot FWD = 128.3 EZp
- =TT =T 4 2 2 B3

Link1 is a copper connection and Link2 is a fiber connection. The fiber port must be the primary port for all forwarding. The output of the show spanning-tree
command on SW2 shows that the fiber port is blocked by spanning tree. An engineer enters the spanning- tree port-priority 32 command on GO/1 on SW2, but the
port remains blocked. Which command should be entered on the ports that are connected to Link2 to resolve the issue?

A. Enter spanning-tree port-priority 32 on SW1.
B. Enter spanning-tree port-priority 224 on SW1.
C. Enter spanning-tree port-priority 4 on SW2.
D. Enter spanning-tree port-priority 64 on SW2.

Answer: A

NEW QUESTION 33
Which LISP infrastructure device provides connectivity between non-sites and LISP sites by receiving non-LISP traffic with a LISP site destination?

A. PETR

B. PITR

C. map resolver
D. map server

Answer: B

NEW QUESTION 38
What do Cisco DNA southbound APIs provide?

A. Interface between the controller and the network devices
B. NETCONF API interface for orchestration communication
C. RESful APl interface for orchestrator communication

D. Interface between the controller and the consumer

Answer: A

NEW QUESTION 42
Based on this interface configuration, what is the expected state of OSPF adjacency?
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A. Full on both routers
B. not established
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C. 2WAY/DROTHER on both routers
D. FULL/BDR on R1 and FULL/BDR on R2

Answer: B

NEW QUESTION 46
Which statement about route targets is true when using VRF-Lite?

A. When BGP is configured, route targets are transmitted as BGP standard communities.
B. Route targets control the import and export of routes into a customer routing table.

C. Route targets allow customers to be assigned overlapping addresses.

D. Route targets uniquely identify the customer routing table.

Answer: B

NEW QUESTION 49

How does Cisco Trustsec enable more flexible access controls for dynamic networking environments and data centers?
A. uses flexible NetFlow

B. assigns a VLAN to the endpoint

C. classifies traffic based an the contextual identity of the endpoint rather than its IP address

D. classifies traffic based on advanced application recognition

Answer: C

NEW QUESTION 54
Refer to the exhibit.

/ AS1 i, / " AS?2

I."JIlr l':?-l ‘\\,I ' = \
= . ' R

[ < oo FaD/0O | 192.168.10.0/24 | Fa0/0 o |

oSS T 0GR Lool

E R.l /f \"-. RE E ’J

Which configuration establishes EBGP neighborship between these two directly connected neighbors and exchanges the loopback network of the two routers
through BGP?
A)

R1(config)¥router bgp 1
R1(config router)@neighbor 192.168.10.2 remote-as 2
R1(config router)y™network 10.1.1.0 mask 255 .255.255.0

R2Z(config)Frouter bgp 2
R2Z(confiqg router ) Tnelghbor 192.168.10.1 remote-as 1
RZ2(config-router)Tnetwork 10.2.2.0 mask 255.255.255.0

B)

R1(conhg)¥router bgp 1
R1(confhg-router )#neighbor 10.2.2.2 remote-as 2
R1(config-router J#network 10.1.1.0 mask 266.266.266.0

R2(config)¥router bgp 2
R2(config router)¥neighbor 10.1.1.1 remote-as 1
R2(config router)network 10.2.2.0 mask 255.255.255.0

C)

R1(conhqg )=router bgp 1
R1(conhg-router JZneighbor 192.168.10.2 remote-as 2
R1(conhg-router )J=network 10.0.0.0 mask 256.0.0.0

RZ(conhg)=router bgp 2

R2(conhg-routcer J=neighbor 192.168.10.1 remote-as 1
R2Z(config-router )¥network 10.0.0.0 mask 266.0.0.0

D)
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R1(config)router bgp 1

R1(config - router ) mneighbor 10.2.2.2 remote-as 2
R1(config router )mnelghbor 10.2.2.2 update-source 100
R1(config-router rnetwork 10.1.1.0 mask 255.255.255.0

¥

Z(conhg-router )J=neighbor 10.1.1.1 remote-as 1
RZ2(conhg-router Jneighbor 10.1.1.1 update-source lo0
R2(conhg-router ) =network 10.2.2.0 mask 2565.25665.265.0

RZ(conhg)=router bgp 2
¢

A. Option A
B. Option B
C. Option C
D. Option D

Answer: A

NEW QUESTION 57
Which method displays text directly into the active console with a synchronous EEM applet policy?

A. event manager applet boom event syslog pattern ‘UP'action 1.0 gets 'logging directly to console'

B. event manager applet boom event syslog pattern 'UP'action 1.0 syslog priority direct msg 'log directly to console’
C. event manager applet boom event syslog pattern 'UP'action 1.0 puts 'logging directly to console'

D. event manager applet boom event syslog pattern 'UP'action 1.0 string 'logging directly to console'

Answer: B

NEW QUESTION 58
Which controller is the single plane of management for Cisco SD-WAN?

A. vBond

B. vEdge

C. vSmart
D. vManage

Answer: D

NEW QUESTION 61
Which LISP device is responsible for publishing EID-to-RLOC mappings for a site?

A.ETR
B. MS
C.ITR
D. MR

Answer: A

NEW QUESTION 62
Refer to the exhibit.
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Which HTTP JSON response does the python code output give?

A. NameError: name 'json' is not defined
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B. KeyError 'kickstart_ver_str'
C.7.61

D. 7.0(3)I7(4)

Answer: B

NEW QUESTION 64
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NEW QUESTION 1
Which function does a fabric edge node perform in an SD-Access deployment?

A. Connects the SD-Access fabric to another fabric or external Layer 3 networks
B. Connects endpoints to the fabric and forwards their traffic

C. Provides reachability border nodes in the fabric underlay

D. Encapsulates end-user data traffic into LISP.

Answer: A

NEW QUESTION 2
Refer to the exhibit.

R1&# sh ron | begin ine con
hna con o
excc-timeout O O
privilege: level 15
lewgogireg synchionmos
stopbits 1
line aux o
axac-timeaut O 0D
privilege lovel 15
logging synchronous
sloptuls 1
line vy 0 4
password 7 045802150C2E
Togin

hna vy & 15
password 7 045802150C2E
login
I
cnid
R1# sh run | nclude aaa | enable

no aaa new-model
R1&#

Which privilege level is assigned to VTY users?

N N e
w

cow>
o

Answer: D

NEW QUESTION 3

A network is being migrated from IPV4 to IPV6 using a dual-stack approach. Network management is already 100% IPV6 enabled.

two dual-stack NetFlow collections, how many flow exporters are needed per network device in the flexible NetFlow configuration?

o0 w»
o DN

Answer: B

NEW QUESTION 4
Refer to the exhibit.

Extended IP access list EGRESS
10 permit ip 10.0.0.0 0.0.0 255 any
|

<Cmtput Omitted=

i

intarmace GigablkEtharnsatl o

ip address 209 165 200 225 255 255 255.0
ip acocess-group EGRESS out
cluples snalo

speed auto

media-type n4s

In a dual-stack network with

An engineer must block all traffic from a router to its directly connected subnet 209.165.200.0/24. The engineer applies access control list EGRESS in the
outbound direction on the GigabitEthernet0/0 interface of the router However, the router can still ping hosts on the 209.165.200.0/24 subnet. Which

A. Mastered
B. Not Mastered

Answer: A

Explanation:
of this behavior is true?
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A. Access control lists that are applied outbound to a router interface do not affect traffic that is sourced from the router.

B. Only standard access control lists can block traffic from a source IP address.

C. After an access control list is applied to an interface, that interface must be shut and no shut for the access control list to take effect.

D. The access control list must contain an explicit deny to block traffic from the router.
Answer: A

NEW QUESTION 5
Which statement about agent-based versus agentless configuration management tools is true?

A. Agentless tools require no messaging systems between master and slaves.
B. Agentless tools use proxy nodes to interface with slave nodes.

C. Agent-based tools do not require a high-level language interpreter such as Python or Ruby on slave nodes.

D. Agent-based tools do not require installation of additional software packages on the slave nodes.

Answer: D

NEW QUESTION 6
On which protocol or technology is the fabric data plane based in Cisco SD-Access fabric?

A. LISP

B. IS-IS

C. Cisco TrustSec
D. VXLAN

Answer: D

NEW QUESTION 7
Which statement about a fabric access point is true?

A. ltis in local mode an must be connected directly to the fabric border node.

B. Itis in FlexConnect mode and must be connected directly to the fabric border node.
C. Itis in local mode an must connected directly to the fabric edge switch.

D. Itis in FlexConnect mode and must be connected directly to the fabric edge switch.

Answer: C

NEW QUESTION 8
Drag and drop the characteristics from the left onto the correct infrastructure deployment types on the right.

‘ ko0 Premises

L 8 L e dF Qv ATeE, ERUr Doee-Duil Sy -Lei s

quress 3 =trong and stable Itern

— SO = =
& = = & & TaT=
| "

A. Mastered
B. Not Mastered

Answer: A

Explanation:

On premise: customizable,specific requirements,resources Cloud: scale, built-in automated backup, strong stable internet

NEW QUESTION 9
Which method creates an EEM applet policy that is registered with EEM and runs on demand or manually?

A. event manager applet ondemand event registeraction 1.0 syslog priority critical msg ‘This is a message from ondemand'
B. event manager applet ondemand event manualaction 1.0 syslog priority critical msg 'This is a message from ondemand’
C. event manager applet ondemand event noneaction 1.0 syslog priority critical msg 'This is a message from ondemand’

D. event manager applet ondemandaction 1.0 syslog priority critical msg 'This is a message from ondemand'

Answer: C
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NEW QUESTION 10
Which method does the enable secret password option use to encrypt device passwords?

A. AES
B. CHAP
C. PAP
D. MD5

Answer: D

NEW QUESTION 10
Refer to exhibit.

=~ = =

SV SwW2 SwWa3

VLANSs 50 and 60 exist on the trunk links between all switches All access ports on SW3 are configured for VLAN 50 and SW1 is the VTP server Which command

ensures that SW3 receives frames only from VLAN 507

A. SW1 (config)#vtp pruning

B. SW3(config)#vtp mode transparent
C. SW2(config)=vtp pruning

D. SW1 (config >»vtp mode transparent

Answer: A

NEW QUESTION 13
What the role of a fusion in an SD-Access solution?

A. provides connectivity to external networks

B. acts as a DNS server

C. performs route leaking between user-defined virtual networks and shared services
D. provides additional forwarding capacity to the fabric

Answer: C

NEW QUESTION 18
What is a benefit of deploying an on-premises infrastructure versus a cloud infrastructure deployment?

A. faster deployment times because additional infrastructure does not need to be purchased
B. lower latency between systems that are physically located near each other

C. less power and cooling resources needed to run infrastructure on-premises

D. ability to quickly increase compute power without the need to install additional hardware

Answer: B

NEW QUESTION 20

Which DNS lookup does an access point perform when attempting CAPWAP discovery?
A. CISCO-DNA-CONTROLLER local

B. CAPWAP-CONTROLLER local

C. CISCO-CONTROLLER local

D. CISCO-CAPWAP-CONTROLLER local

Answer: D

NEW QUESTION 24
What is a benefit of data modeling languages like YANG?

A. They enable programmers to change or write their own application within the device operating system.

B. They create more secure and efficient SNMP OIDs.

C. They make the CLI simpler and more efficient.

D. They provide a standardized data structure, which results in configuration scalability and consistency.
Answer: D

NEW QUESTION 28
Refer to the exhibit.
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G0/0 Linkl GOS0
GOy1 Limk2 G0S1
EWZ2#show sSpanning-tres
FLAlN 1
Spanning tree enabled proctooocl i1ees
oot ID FELQTARY F2TEF
Addrass 5000 ., 0005 . 0000
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Hello Time 2 mec Max Age 20 aec Forward Dela 15 asc
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Link1 is a copper connection and Link2 is a fiber connection. The fiber port must be the primary port for all forwarding. The output of the show spanning-tree
command on SW2 shows that the fiber port is blocked by spanning tree. An engineer enters the spanning- tree port-priority 32 command on GO/1 on SW2, but the
port remains blocked. Which command should be entered on the ports that are connected to Link2 to resolve the issue?

A. Enter spanning-tree port-priority 32 on SW1.
B. Enter spanning-tree port-priority 224 on SW1.
C. Enter spanning-tree port-priority 4 on SW2.
D. Enter spanning-tree port-priority 64 on SW2.

Answer: A

NEW QUESTION 33
Which LISP infrastructure device provides connectivity between non-sites and LISP sites by receiving non-LISP traffic with a LISP site destination?

A. PETR

B. PITR

C. map resolver
D. map server

Answer: B

NEW QUESTION 38
What do Cisco DNA southbound APIs provide?

A. Interface between the controller and the network devices
B. NETCONF API interface for orchestration communication
C. RESful APl interface for orchestrator communication

D. Interface between the controller and the consumer

Answer: A

NEW QUESTION 42
Based on this interface configuration, what is the expected state of OSPF adjacency?
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A. Full on both routers
B. not established
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C. 2WAY/DROTHER on both routers
D. FULL/BDR on R1 and FULL/BDR on R2

Answer: B

NEW QUESTION 46
Which statement about route targets is true when using VRF-Lite?

A. When BGP is configured, route targets are transmitted as BGP standard communities.
B. Route targets control the import and export of routes into a customer routing table.

C. Route targets allow customers to be assigned overlapping addresses.

D. Route targets uniquely identify the customer routing table.

Answer: B

NEW QUESTION 49

How does Cisco Trustsec enable more flexible access controls for dynamic networking environments and data centers?
A. uses flexible NetFlow

B. assigns a VLAN to the endpoint

C. classifies traffic based an the contextual identity of the endpoint rather than its IP address

D. classifies traffic based on advanced application recognition

Answer: C

NEW QUESTION 54
Refer to the exhibit.
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Which configuration establishes EBGP neighborship between these two directly connected neighbors and exchanges the loopback network of the two routers
through BGP?
A)

R1(config)¥router bgp 1
R1(config router)@neighbor 192.168.10.2 remote-as 2
R1(config router)y™network 10.1.1.0 mask 255 .255.255.0

R2Z(config)Frouter bgp 2
R2Z(confiqg router ) Tnelghbor 192.168.10.1 remote-as 1
RZ2(config-router)Tnetwork 10.2.2.0 mask 255.255.255.0

B)

R1(conhg)¥router bgp 1
R1(confhg-router )#neighbor 10.2.2.2 remote-as 2
R1(config-router J#network 10.1.1.0 mask 266.266.266.0

R2(config)¥router bgp 2
R2(config router)¥neighbor 10.1.1.1 remote-as 1
R2(config router)network 10.2.2.0 mask 255.255.255.0

C)

R1(conhqg )=router bgp 1
R1(conhg-router JZneighbor 192.168.10.2 remote-as 2
R1(conhg-router )J=network 10.0.0.0 mask 256.0.0.0

RZ(conhg)=router bgp 2

R2(conhg-routcer J=neighbor 192.168.10.1 remote-as 1
R2Z(config-router )¥network 10.0.0.0 mask 266.0.0.0

D)
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R1(config)router bgp 1

R1(config - router ) mneighbor 10.2.2.2 remote-as 2
R1(config router )mnelghbor 10.2.2.2 update-source 100
R1(config-router rnetwork 10.1.1.0 mask 255.255.255.0

¥

Z(conhg-router )J=neighbor 10.1.1.1 remote-as 1
RZ2(conhg-router Jneighbor 10.1.1.1 update-source lo0
R2(conhg-router ) =network 10.2.2.0 mask 2565.25665.265.0

RZ(conhg)=router bgp 2
¢

A. Option A
B. Option B
C. Option C
D. Option D

Answer: A

NEW QUESTION 57
Which method displays text directly into the active console with a synchronous EEM applet policy?

A. event manager applet boom event syslog pattern ‘UP'action 1.0 gets 'logging directly to console'

B. event manager applet boom event syslog pattern 'UP'action 1.0 syslog priority direct msg 'log directly to console’
C. event manager applet boom event syslog pattern 'UP'action 1.0 puts 'logging directly to console'

D. event manager applet boom event syslog pattern 'UP'action 1.0 string 'logging directly to console'

Answer: B

NEW QUESTION 58
Which controller is the single plane of management for Cisco SD-WAN?

A. vBond

B. vEdge

C. vSmart
D. vManage

Answer: D

NEW QUESTION 61
Which LISP device is responsible for publishing EID-to-RLOC mappings for a site?

A.ETR
B. MS
C.ITR
D. MR

Answer: A

NEW QUESTION 62
Refer to the exhibit.
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Which HTTP JSON response does the python code output give?

A. NameError: name 'json' is not defined
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B. KeyError 'kickstart_ver_str'
C.7.61

D. 7.0(3)I7(4)

Answer: B

NEW QUESTION 64
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